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h following using set notation.

2 how many students like:
mathematics and science.

: 1's physics classis visiting the local amusement park, $he has 32 students. Of lhese
5, 20 plan to ride the roller coaster and 13 plan toride the vertical drop. There ate § students
do not plan to ride either attraction.

how many students plan to ride both the roller cozster and the vertical drop.
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Clu, checkers, G, Scrabble, and Monopoly, Ganestat
Snap, and Clue, Draw 2 Venn diagram to represent these two

 determine the union and intersection of these two sets.
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-in set notation,

anlybelong to 2 band?
belong o band or sports but not a sehoal club?

belong to only a school club?
‘ﬁong_tu only one sports team?
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9, Ifthe statement helow is biconditional, rewrite it in iconds
biconditional, provide a cour
“Ifyou have Canadian zoin

. Show the biconditional statement belaw is true
“J am eating an orange if and only 1f | am

- ) Draw a Venn diagram to 1y
« fhe universal sot [
+ I'= [multiples of 3
+ 8= fmuitiples of 6]
= N=Imultiples of 19}
by List the dis
£} [s exch statemen true or false? Fxplair

N =
iySe
i) Ve i

i) T' = {even numbers from {10 30

¥) In this example, the set of natural sum

480 people were intarviewed

154 people liked rad, green or blue

100 liked red; 107 fiked green; 90 fiked biue

B liked red and blue or ly; 21 liked rad and green only
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n (r(Uc-\uKS)-—\nCR) +n(6) +n()(5>- —

N(RUGUB)=n(R) +n(@)+n (8)- n (RN@)-n(&n ) ~n<’<ﬂ’5)+n (&nens)

1S4 = loa+ 167 + 0 - (219)-(10+%) - (34x) 4%
59 = 247 ~a1-x-10-%-%-% +x
(5S4 = aS5% -2~
=09 =-2x
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